F|

o
o
=

20114 2

2t = AS Aolct

ojf

ujo

-

oMl

ko
Ao
=
J
o

[ELL
ojn

ol

Kr

Gl
Jor

o[ A+E

=
=

o &2l A2t X HE

©)

47| 1) 22 50| 247 [ AL

D)

1

CHAZHX]

=
[

ol

2 ALZElE B FHAf

DMz

A)

Ofu

<r

HO
Ho

B)

A

E) 5ol 2

LHo

©)

2ol Z3E wotM =0t

M
(=]

7|50t 7| of 42 A27?

i

1Im 37|9 &

A)

78 a4 GE2 UMA RS ofF #elo|

1840HLCH 2|

B)

100m &=0]|9| L&

127}%|

©)

o

a4

=

o

te

]

D)

Hio
OH

D)

o/

OH

=aic.

7t
10. HIERIDt HE FF0| HMAH 7|ot2 X2t HA O UCH

4
<d

O

D) 2/t

te (Z=22)

of
4

wd

k

M7t &l

|
(L

10| 23 MAXS=Z Y| =l ALt

]

il

A)

Ul
o0

10

KF
Bl

u-

Hu

oj
IH

80

A)

S oj®ot
|sHste @y

Nl EA

[o:k-13
S S

ol cr2lel TstEo 2

B)

of

olo
4

B) HIEtZ A°t HEO| =0 A

O] =|ALt

=
=]

o

O] &ALt

=
=]

10

Ao

1
”

Eil

20| o] X|Hof

{

2t

5 40

100

A)

=L
ol
K+

i

Kr

ot SM|O|5t Of

B)

)

oJerE0| oftl 27 (

H|EFRIAR CF b E}

©)

O] 1=0f 209 0]

ol%t i

DXES X=X 2HAEHE

0

Jod
MO

]

A

Cl7|&e

I5lH HIO|R0| B2l 355 A=

ol
ol

3

Xt
(=]

<a

D)

(

A2

FEMZ AH2(7F ™

)

(

=2
¢

&%

2

3|

12.

7|20[ =27t

o[t

A)

il
A

Ofu

<r

A)

oF

xr

oF

ofl

Mg

o
T

B)

2L X[SoM 7| 20] 1= &
3~5%7I}HX|

B)

2464 oIt}

o 4

o] 22t7tH = #F X7t

i)
—

7

©)

ez 722 H

<
oF
w0
<o
1ol
o+

i
or

[\¢

Ho
ol
Rr

K

D)

11



